


1C+2C=CYMMA
1C=CYMMA=-2C
2C=CYMMA-1C







1MH.
*2MH.=npon3BegeHune
npoun3sBegeHne: 1MH.
=2 MH.
[ lpon3BegeHne:2MH.=
1MH.




3TO PaBEHCTBO,
cogepkallee

HEN3BECTHOE
4YMCIo, KOTOPOE
HagJo HAUTW.




1.MpounTtam ypaBHEHMe.
2.Ha3zoBu gencreue,
KOMIMOHEHTbI.

3.BCNOMHM, KaK HAUTM

HEen3BeCTHbIM KOMMOHEHT.
1.3anuvuiuv U BbIUUCIIN.
.IlpoBepb.




pelIeHHEe YPAaBHEHHH

O + X = 14; 7 —X=2; x*2=14;
X =14 -9; X=7-=2; x=14:2;
X = D. X = . X=17.
O+ 5 = 14; 1 —35=2; 7*2=14;
14 = 14. 2.= 2. 14=14




Cnacubo
3a
BHHMAaHHe!




